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A Level Law - Component 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1024 2.2 1.6 5 44.3 90.5
2 1057 2.4 1.8 5 48.8 93.4
3 233 9.3 4.1 15 61.7 20.6
4 900 10.8 3.5 15 72.3 79.5
5 734 14.1 5 25 56.4 64.8
6 394 13.6 5.7 25 54.3 34.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section B


In Section B, you must answer either question 5 or question 6.


You must answer both part a) and part b) of your chosen question.


Part a) requires you to demonstrate knowledge and understanding of the English legal system and 
legal rules and principles.


Part b) requires you to analyse and evaluate legal rules, principles, concepts and issues, and the 
nature of law.


Credit will be given for the use of relevant supporting case law and authority.


Either,


0 5


	 a)	 Explain the process of appeal for a criminal case.	 [10]
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3 marks. Needs to be clearer on role, composition and explanation of repeal, etc. No citation of legal authority. 
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Covers the main points and includes some examples to support. 
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Section A 
 


Explain the role of the Law Commission. [5] 
 


Indicative content 
 


NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according 
to the assessment grid and the indicative content. Examiners should seek to credit 
any further admissible evidence offered by candidates. 


 


In explaining what is meant by the purpose of the Law Commission candidates are 
expected to demonstrate knowledge and understanding of the English legal system 
and legal rules and principles underlying the purpose of the Law Commission. In 
demonstrating this knowledge and understanding candidates are required to focus on 
the specific nature of the question and not simply give a general answer on law 
reform. 


 
The response might consider issues such as: 


 


• The reasons for establishing the Law Commission, for example the need to set 
up a full time, independent law reform body. 


• Reference to the Law Commission Act 1965 which created the statutory 
independent body charged with keeping the law under review and recommending 
reform where it is needed.  


• The main purpose of the Commission is to ensure that the law is fair, modern, 
simple and effective. Can suggest repeals, codification, consolidation and the 
creation of new legislation. 


• The Law Commission Act 2009 compels the government to give reasons why it 
has not implemented any proposal of the Law Commission. 


• Examples of recent work showing its purpose can be utilised, for example the 
proposals that led to the Criminal Justice and Courts Act 2015. 


 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 
English legal system and legal rules and principles 


3 4-5 


• Excellent knowledge and understanding of the English legal 
system and legal rules and principles relating to the role of the 
Law Commission. Response is clear, detailed and fully 
developed. 


2 2-3 


• Good knowledge and understanding of the English legal 
system and legal rules and principles relating to the role of 
the Law Commission. Response is generally clear, detailed 
and developed. 


1 1 
• Basic knowledge and understanding of the English legal 


system and legal rules and principles relating to the role of 
the Law Commission. Response includes minimal detail. 


 0 Response not creditworthy or not attempted. 
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Section A


In Section A, you must answer three questions. 
Answer both questions 1 and 2 plus either question 3 or question 4.


Questions 1 and 2 require you to demonstrate knowledge and understanding of the English legal 
system and legal rules and principles.


Credit will be given for the use of relevant supporting case law and authority.


Answer both questions 1 and 2.


0 1 	 Explain the role of the Law Commission.	 [5]
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5 marks. All points covered with legal authority to support.





























Context on DL and main controls included with legal authority to support. 
5 marks.
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Explain the judicial controls on delegated legislation. [5] 
 
Indicative content 


 
NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according 
to the assessment grid and the indicative content. Examiners should seek to credit 
any further admissible evidence offered by candidates. 


 
In explaining the judicial controls on delegated legislation, candidates are expected to 
demonstrate knowledge and understanding of the nature of delegated legislation, 
focusing on the judicial controls. In demonstrating this knowledge and understanding 
candidates are required to focus on the specific nature of the question and not simply 
give a general answer on legislation. 


 
The response might consider issues such as: 


 


• Nature of delegated legislation as a secondary source of law. 


• Challenge via judicial review on the basis the law is ultra vires and beyond the 
powers given in the enabling Act. If successful, the delegated legislation is 
declared void. 


• Main judicial controls include: 
o Unreasonable ultra vires –Associated Picture Houses v Wednesbury 


Corporation. 
o Substantive ultra vires – R v Home Secretary, ex parte Fire Brigades 


Union. 
o Procedural ultra vires – Aylesbury Mushrooms 


 
 


Band Marks 
AO1: Demonstrate knowledge and understanding of the 
English legal system and legal rules and principles 


3 4-5 


• Excellent knowledge and understanding of the English legal 
system and legal rules and principles relating to the judicial 
controls on delegated legislation. Response is clear, detailed 
and fully developed. 


2 2-3 


• Good knowledge and understanding of the English legal 
system and legal rules and principles relating the judicial 
controls on delegated legislation. Response is generally 
clear, detailed and developed. 


1 1 


• Basic knowledge and understanding of the English legal 
system and legal rules and principles relating to judicial 
controls on delegated legislation. Response includes minimal 
detail. 


 0 Response not creditworthy or not attempted. 
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Section A


In Section A, you must answer three questions. 
Answer both questions 1 and 2 plus either question 3 or question 4.


Questions 1 and 2 require you to demonstrate knowledge and understanding of the English legal 
system and legal rules and principles.


Credit will be given for the use of relevant supporting case law and authority.


Answer both questions 1 and 2.


0 2 	 Explain the judicial controls on delegated legislation.	 [5]


© WJEC CBAC Ltd.





























































Excellent application of all 4 rules supported by legal authority and applied to the scenario. 15 marks





































All 4 rules, with case law included. Application could be stronger but is present and there is some reference to extrinsic/intrinsic aids. 
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Read the text below and answer the question that follows  
 
Following an increase in fatal road traffic accidents where the defendant was under 
the influence of drugs, Parliament passed the Road Traffic Drug Driving (fictitious) 
Act 2020.  


 
During the second reading of the Bill in Parliament, Ted Brown, MP, stated that he 
felt that so-called ‘legal highs’ should be included within the scope of the statute if 
this had contributed to the incident. Other MPs also agreed.  


 
Section 4 of the Road Traffic Drug Driving (fictitious) Act 2020 states: 


 
(1) A person is guilty of an offence under this section if he: 


(a) knowingly drives recklessly whilst under the influence of drugs, or, 
(b) contributes to the reckless driving of another by being present at the 


time of the incident. 
 


(2) For the purpose of s.1, a person is to be considered as ‘under the influence of 
drugs’ if it is proved (through the use of a blood test) that they have illegal 
substances in their bloodstream at the time of the incident.  


 
(3) The offence is punishable by a fine of £500 and/or a driving ban for 6 months.  


 
Morgana is driving her friend Luca home from a party. At the party, a number of their 
friends took legal highs at the party. Morganna took a painkiller prescribed to one of 
her friends as she had a headache. She knows that these tablets have an effect on 
her ability to concentrate. Unknown to Morganna and Luca, Luca’s diet soda was 
spiked with a drug just before they left for the journey home. This causes Luca to act 
erratically and, while Morganna is driving, he grabs the steering wheel and swerves 
across the road. Moganna, who is unable to react quickly due to the effects of the 
painkiller, hits a bus shelter, hitting a pedestrian. The police are called and Luca and 
Morganna are charged under s.1 of the Act. Luca claims his drink was spiked with a 
legal high but the blood test is inconclusive.  
 
Using your knowledge of statutory interpretation, advise Luca and Morganna as to 
the possible outcomes of the case. [15] 


 
 


Indicative content 
 


NOTE: The content is not prescriptive and candidates are not expected to mention all 
the material mentioned below. Each answer will be assessed on its merits according 
to the assessment grid and the indicative content. Examiners should seek to credit 
any further admissible evidence offered by candidates. 


 
In advising Luca and Morganna, candidates are expected to apply the full range of 
legal rules and principles that affect the application of the rules of statutory 
interpretation to Luca and Morganna’s situation. In this case candidates may apply 
the literal, golden, mischief and purposive rules, plus other aids of interpretation, 
including both intrinsic and extrinsic aids, to the given scenario in order to present a 
legal argument. 


 
  


0 4 
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The response might consider issues such as: 
 


• Applying the four rules of statutory interpretation to the scenario: 
o Literal: gives words their natural and grammatical meaning, even if the result 


is absurd – Whitely v Chappel, Lees v Secretary of State, Fisher v Bell, 
London LNER v Berriman. Application of the rule to the scenario.  


o Morganna has taken a substance prescribed to someone else but not ‘illegal’. 
Luca has contributed even though he is unaware of the substance in his 
bloodstream. It is unclear whether the drug is illegal or not. 


o Golden: allows words in a statute to be modified in order to avoid an absurdity 
or repugnant result – Sweet v Parsley, Adler v George, Re Sigsworth, R v 
Allen. Application of the rule to the scenario. Possible conviction of Luca 
under literal rule is absurd. Morganna being not guilty under literal also 
potentially absurd as she is aware of the soporific effect but not ‘illegal’. 


o Mischief: looks at the gap in the law Parliament intended to fill. Established in 
Heydon’s Case. Used in Smith v Hughes, Royal College of Nursing v DHSS, 
Pepper v Hart. Application of the rule to the scenario. Reference to Hansard 
comments regarding the purpose of the Act and the fact that legal highs 
should be included.  


o  Purposive: looks at the ‘spirit of the law’ and looks to see what Parliament 
intended– Magor v St Mellons, Quinataville, Jones v Tower Boot Company. 
Application of the approach to the scenario. As above for mischief.  


 


• Applying other methods of interpretation: 
o Intrinsic aids (short title, long title, preamble interpretation sections, margin 


notes 
o Rules of Language 
o Extrinsic aids (Hansard, dictionaries, textbooks, Human Rights Act 1998, 


international conventions) 
o Presumptions 
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Assessment Grid for Question 4 
 


Band Marks 
AO2: Apply legal rules and principles to given 
scenarios in order to present a legal argument using 
appropriate legal terminology 


4 12-15 


• Excellent application of legal rules and principles to 
Morganna and Luca’s situation. 


• Excellent presentation of a legal argument using 
appropriate legal terminology, case law and other 
legal authorities relating to statutory interpretation. 
The legal argument is detailed, fully developed and 
persuasive. 


3 8-11 


• Good application of legal rules and principles to 
Morganna and Luca’s situation. 


• Good presentation of a legal argument using 
appropriate legal terminology, case law and other 
legal authorities relating to statutory interpretation.  
The legal argument is generally detailed, developed 
and persuasive. 


2 4-7 


• Adequate application of legal rules and principles to 
Morganna and Luca’s situation. 


• Adequate presentation of a legal argument using 
some appropriate legal terminology, case law and 
other legal authorities relating statutory interpretation. 
The legal argument includes some detail which is 
developed in places. 


1 1-3 


• Basic application of legal rules and principles to 
Morganna and Luca’s situation. 


• Basic presentation of a legal argument using minimal 
legal terminology relating to statutory interpretation. 
The legal argument includes minimal detail. 


 0 Response not creditworthy or not attempted. 
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Or,


0 4


Read the text below and answer the question that follows.


Following an increase in fatal road traffic accidents where the defendant was under the influence of 
drugs, Parliament passed the Road Traffic Drug Driving (fictitious) Act 2020. 


During the second reading of the Bill in Parliament, Ted Brown, MP, stated that he felt that  
so-called ‘legal highs’ should be included within the scope of the statute if this had contributed to 
the incident. Other MPs also agreed. 


Section 4 of the Road Traffic Drug Driving (fictitious) Act 2020 states:


	 (1)	 A person is guilty of an offence under this section if he:


	 (a)	 knowingly drives recklessly whilst under the influence of drugs, or,


	 (b)	 contributes to the reckless driving of another by being present at the time of the 
incident.


	 (2)	 For the purpose of s.1, a person is to be considered as ‘under the influence of drugs’ 
if it is proved (through the use of a blood test) that they have illegal substances in their 
bloodstream at the time of the incident.


	 (3)	 The offence is punishable by a fine of £500 and/or a driving ban for 6 months.


Morganna is driving her friend Luca home from a party. At the party, a number of their friends took 
legal highs. Morganna took a painkiller prescribed to one of her friends as she had a headache. 
She knows that these tablets have an effect on her ability to concentrate. Unknown to Morganna 
and Luca, Luca’s diet soda was spiked with a drug just before they left for the journey home. 
This causes Luca to act erratically and, while Morganna is driving, he grabs the steering wheel 
and swerves across the road. Moganna, who is unable to react quickly due to the effects of 
the painkiller, hits a bus shelter, nearly hitting a pedestrian. The police are called and Luca and 
Morganna are charged under s.1 of the Act. Luca claims his drink was spiked with a legal high but 
the blood test is inconclusive.


Using your knowledge of statutory interpretation, advise Luca and Morganna as to the possible 
outcomes of the case.	 [15]


© WJEC CBAC Ltd.





























Not specific enough on routes of appeal. Some confusion between civil and criminal and no citation of legal authority. 7 marks. 





























Some inaccuracies but main appeal routes present and reference to some legal authority. 9 marks. 
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Section B 
 


(a) Explain the process of appeal for a criminal case. [10] 
 


Indicative content 
 


NOTE: The content is not prescriptive and candidates are not expected to 
mention all the material mentioned below. Each answer will be assessed on 
its merits according to the assessment grid and the indicative content. 
Examiners should seek to credit any further admissible evidence offered by 
candidates. 


 


• Candidates may discuss the appellate function of the Crown Court – to 
hear appeals from the Magistrates’ Court.  


• Queen’s Bench Division of the High Court – hears appeals by way of case 
stated from the Magistrates’ Court from the Crown Court where that court 
has heard an appeal from the Magistrates’ Court / Also hears claims for 
judicial review. 


• Criminal Division of the Court of Appeal: hears appeals from the Crown 
Court against conviction and/or sentence. Appeals require leave. Not a 
retrial: the case is conducted by argument before usually 3 judges – (but 
can be as many as 6 – two judges can hear appeal against sentence). 
Also hears appeals by the prosecution against rulings of the Crown Court.  


• Supreme Court – hears appeals on a point of law only from the Divisional 
Court and Court of Appeal. Leave is always required. Appeals require the 
court below to certify that a point of law of public importance is involved. 


 
Assessment Grid for Question 5 (a) 


 


Band Marks 
AO1: Demonstrate knowledge and understanding of 
the English legal system and legal rules and 
principles 


4 8-10 


• Excellent knowledge and understanding of the 
English legal system and legal rules and principles 
relating to the appeal routes for a criminal case. 
Response is clear, detailed and fully developed. 


3 5-7 


• Good knowledge and understanding of the English 
legal system and legal rules and principles relating to 
the appeal routes for a criminal case. Response is 
generally clear, detailed and developed. 


2 3-4 


• Adequate knowledge and understanding of the 
English legal system and legal rules and principles 
relating to the appeal routes for a criminal case. 
Response includes some detail which is developed in 
places. 


1 1-2 


• Basic knowledge and understanding of the English 
legal system and legal rules and principles relating to 
the appeal routes for a criminal case. Response 
includes minimal detail. 


 0 Response not credit worthy or not attempted. 
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